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[1#8] ( -0.4 m)

10 4] 513 %kv4A74v BT 3 CGfr JE # 71)10. 90
2 5]42719 E4 Kz (F & F)10.92
3[ 612643 T H w2 (K 7~ ¥ &) 11.09
41 3]38784HM 7 71— 2 (5L AEE)11.14
50 716198 RALREEMN 1 G ¥ K)11.24
5[ 815016 B 1 K f 2 (P63 SCEE &) 11. 24
10113477 585 —81  ( )11.28
8[ 214688 mifE #MoR2 G 1 K)11.42

[3#8] ( -0.9 m)

101] 9653 A #E4E1 (BT R @) 11.51
20 51321 /i Il K HE2 (B & m ) 11.58
3[ 7]13884 3k #y R 1 (5 U AHE)11.70
41 6]387TFH R £ 2 (5 UCAEmE 1.1
5[ 213282 M+ 2 (G & m ) 11.72
6[ 312118 %4 &4 1 (i fn md =) 11.76
70413271 1L X B £ FE #)13.12
[ 8150153 M P55 2 (Wi SCHL ) KI5

[5%H] ( 000 m)
1051 899/ JII  H1 CGE # X11.41
20611747 =W H K E [ #)11.48
3[ 311359 & B A2 (B E)11.51
AL 711371 gkl 1G5 1 (B2 [H &) 11. 63
5[ 115223 ERJITER 2 (48 T4 &) 11.76
6[ 4] 88 @tfE H K2 CGE ¥ XI11.77
70211282 —3E Fndk (B rikets) 11. 87
[ 8]38824 & #E#k 2 (5 U A Ri5

(7#81 ¢ -0.5 m)
1[5]3446 %8 /A2 (Il B FF &) 11.40
20 8J1631én KK MR 1 Gl &R m)11.41
3[ 315018 il H-EaE 2 (P s SCPE ) 11. 45
40 212161 F ik e Bk 7 m)11.62
50711865/ 2= M1 (EUsGEE =) 11. 66
6 [ 6]3294 A @ KER 2 (B &+ =) 11. 81
T0 1 212k 1EEKE (RECK[FAFZ) 12. 01
[ 412645 FLEE TR 2 (B 5 P8 =) Ri5

(9#48] ( +0.5 m)
1[ 812466 75 & 2k 2 (G KR)IkE) 11. 70
2[ 2132045 #hiJr 1 (B R A =) 11.83
3[ 112467 55 )11 #itk 2 (ke A)!BEm) 11. 95
41 513295% & BH1 (B & m @) 11.97
5[ 3] 11304 #k FH#E  (veloce T.C)12.13
6[ 416122 Kk # gf2 Gk Jb &)12. 21
707118320 mE HesE (A. I. R)14.59
[ 6] 1128 KK FERL  (veloce T.C) Ri5

[24H]) ( -0.1 m)
10115024 (o ¥k 1 (PR SCEE =) 11, 38
2[ 2161977 #HH1 G # KR)11.38
3[ 615765 /A BEF 2 (BA & H &) 11.42
41 5]1229fk A& &K (Il B fifket) 11. 51
5[ 311352 ik w¥ A 2 (BEE2[E =) 11. 51
6[ 7]3879 % B KA 2 (5 UAEE)11.52
70 811356 M 1H 98 2 (BEL%H &) 11. 62
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[4#8] (  -1.3 m)
10 613885 K#& #hikf2 (5 UAHEE)11.57
2[ 411862 B2 Kk &k 2 (ElUs#iAEE) 11. 60
3[ 8116258 W K2 (B & @)1 71
A1 711285 @& 1 & — (iR ikEd;) 11.83
50 114611 =k M4 (M £ K)11.84
6 314902 @l 1 (L 2 i &) 11.97
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50513190 k& £ GUHEtEZE)11.74
6[ 3146213k N Br5L3 (W FE K)11.90
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1[0 8]15220 #f #F £ =] 2 (JIl B 8 &) 11.40
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[1042] (  +0.5 m)
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6 2]4596 & T B A 2 (B BiERE)12. 47
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2[ 711820 75 it 2 o 2 (SVWIERAT) 12,
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(30#8] (  +0.5 m)
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2 (HHEEE) 12,
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10 812483 B84 MEK 1 GlpERIIBES) 13.
e &) Ri5

5[ 6]5409 % K
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B2 (kB Af) 12,
2[ 5] 90442 W jEHR 2 (PRl 12.
3[ 31520544 K 1 Ul Bk 3 =) 12.
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61 4] 906 #Z ey AR 2 (il o) 12,
FE 1 CorEEMI i =) 12.
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(31481 ¢ +0.3 m)

1041247976 M R w1 1 G R)ITEE =) 12. 56
2[ 512470 %= 4 45 °F 1 Gl R)IBs) 12. 57
3L 1] 901 B 1 2B 2 (Felih o) 12. 71
41 811067 1A m§A2 (k m H)12.79
5[0 6] 153 RPfE 2 (HmmiRkd)12. 82
6 2132933 7 #HME 1 (BY 45 F ) 12. 91
T3] 1782 )i f&KE 2 (HmmRH)13.00
8L 7] 172 HEE1 (HEmRH)13.42
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A1 6] 1167 BLAF A1 (B~ ) 13.38
50 7] 368 Ak #6 BE A 1 (R biloH)13. 38
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